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§t ] =S
AR _ 43,040 21,612 21,428
HRAFEEAO 42,035 21,150 20,885
SEAMERAD 1,005 462 543
[EF 16,743]
TRRAMAQEHFNEAFREZSD) _ _
Hi il FEREX HESF 2 Bt arhE | BHEE
AR 3,449 3,023 2,818 2,428 1,195 4,724 2,511 597
] 1,746 1577 1,408 1,234 601 2,393 1,171 270
S 1,703 1,446 1,410 1,194 594 2,331 1,340 327
i 1,347 1,201 1,061 1014] 472 1729] 1016 274
8BS i EAE [HEFMERERAMBIE] iLE fif=ka EBE LU
AR 3,313 2,284 3,113 1,181 1,198 3,411 1,220 4539
] 1,680 1,099 1,551 584 606 1,714 599 2,326
i 1,633 1,185 1,562 597 592 1,697 621 2,213
s 1,257 903 1,198 529 545 1,352 494 1,578
K
A0 2,036
] 1,053
S 983
L 773
TERRIAODGEANERESFEL) _
Hiw il EREE HESF AR H Bt &rhE | EHEE
AR 3,384 2,988 2,783 2,362 1,154 4636 2,497 519
;] 1,722 1,557 1,386 1,198 583 2,345 1,162 235
S 1,662 1,431 1,397 1,164] 571 2291] 1335 284
BE & EAE |[HEH#EHERME] LS fi=l=a ESHE LU
AR 3,261 2,254 3,076 1,041 1,031 3,339 1,204 4486
;] 1,656 1,090 1,531 528 517 1,687 594 2,313
S 1,605 1,164 1,545 513 514 1,652 610 2,173
sk
A0 2,020
L] 1,046
S 974
FERRHIAODGTEAERDHA) _
L] L= BErRE HEF EH k4 &k | BEE
AR 65 35 35 66 41 88 14 78
;] 24 20 22 36 18 48 9 35
E-S 41 __15 13 30] 23 40| 5 43
BE HE EAe |[HEHE|HERME] LS fif=l=a ERHE L
AR 52 30 37 140 167 72 16 53
;] 24 9 20 56 89 27 5 13
kS 28 21 17 84 78 45 11 40
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